















































TRANSPORT IN PLANTS

11.4.1 Transpiration and Photosynthesis - a Compromise

Transpiration has more than one purpose; it
® creates transpiration pull for absorption and transport of plants
® supplies water for photosynthesis
® transports minerals from the soil to all parts of the plant

® cools leaf surfaces, sometimes 10 to 15 degrees, by evaporative
cooling
®* maintains the shape and structure of the plants by keeping cells
turgid
An actively photosynthesising plant has an insatiable need for water.
Photosynthesis is limited by available water which can be swiftly depleted
by transpiration. The humidity of rainforests is largely due to this vast
cycling of water from root to leaf to atmosphere and back to the soil.
The evolution of the C, photosynthetic system is probably one of the
strategies for maximising the availability of CO, while minimising water
loss. C, plants are twice as efficient as C, plants in terms of fixing carbon
dioxide (making sugar). However, a C, plant loses only half as much water
as a C, plant for the same amount of CO, fixed.

11.5 UpPTakE AND TRANSPORT OF MINERAL NUTRIENTS

Plants obtain their carbon and most of their oxygen from CO, in the
atmosphere. However, their remaining nutritional requirements are
obtained from water and minerals in the soil.

11.5.1 Uptake of Mineral Ions

Unlike water, all minerals cannot be passively absorbed by the roots.
Two factors account for this: (i) minerals are present in the soil as charged
particles (ions) which cannot move across cell membranes and (ii) the
concentration of minerals in the soil is usually lower than the concentration
of minerals in the root. Therefore, most minerals must enter the root by
active absorption into the cytoplasm of epidermal cells. This needs energy
in the form of ATP. The active uptake of ions is partly responsible for the
water potential gradient in roots, and therefore for the uptake of water by
osmosis. Some ions also move into the epidermal cells passively.

Ions are absorbed from the soil by both passive and active transport.
Specific proteins in the membranes of root hair cells actively pump ions
from the soil into the cytoplasms of the epidermal cells. Like all cells, the
endodermal cells have many transport proteins embedded in their plasma
membrane; they let some solutes cross the membrane, but not others.
Transport proteins of endodermal cells are control points, where a plant
adjusts the quantity and types of solutes that reach the xylem. Note
that the root endodermis because of the layer of suberin has the ability to
actively transport ions in one direction only.
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11.5.2 Translocation of Mineral Ions

After the ions have reached xylem through active or passive uptake, or a
combination of the two, their further transport up the stem to all parts of
the plant is through the transpiration stream.

The chief sinks for the mineral elements are the growing regions of the
plant, such as the apical and lateral meristems, young leaves, developing
flowers, fruits and seeds, and the storage organs. Unloading of mineral
ions occurs at the fine vein endings through diffusion and active uptake
by these cells.

Mineral ions are frequently remobilised, particularly from older,
senescing parts. Older dying leaves export much of their mineral content
to younger leaves. Similarly, before leaf fall in decidous plants, minerals
are removed to other parts. Elements most readily mobilised are
phosphorus, sulphur, nitrogen and potassium. Some elements that are
structural components like calcium are not remobilised.

An analysis of the xylem exudates shows that though some of the
nitrogen travels as inorganic ions, much of it is carried in the organic
form as amino acids and related compounds. Similarly, small amounts
of P and S are carried as organic compounds. In addition, small amount
of exchange of materials does take place between xylem and phloem.
Hence, it is not that we can clearly make a distinction and say categorically
that xylem transports only inorganic nutrients while phloem transports
only organic materials, as was traditionally believed.

11.6 PHLOEM TRANSPORT: FLOW FROM SOURCE TO SINK

Food, primarily sucrose, is transported by the vascular tissue phloem
from a source to a sink. Usually the source is understood to be that
part of the plant which synthesises the food, i.e., the leaf, and sink, the
part that needs or stores the food. But, the source and sink may be
reversed depending on the season, or the plant’s needs. Sugar stored
in roots may be mobilised to become a source of food in the early spring
when the buds of trees, act as sink; they need energy for growth and
development of the photosynthetic apparatus. Since the source-sink
relationship is variable, the direction of movement in the phloem can
be upwards or downwards, i.e., bi-directional. This contrasts with
that of the xylem where the movement is always unidirectional, i.e.,
upwards. Hence, unlike one-way flow of water in transpiration, food
in phloem sap can be transported in any required direction so long
as there is a source of sugar and a sink able to use, store or remove
the sugar.

Phloem sap is mainly water and sucrose, but other sugars, hormones
and amino acids are also transported or translocated through phloem.
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11.6.1 The Pressure Flow or Mass Flow Hypothesis

The accepted mechanism used for the translocation of sugars from source
to sink is called the pressure flow hypothesis. (see Figure 11.10). As
glucose is prepared at the source (by photosynthesis) it is converted to
sucrose (a dissacharide). The sugar is then moved in the form of sucrose
into the companion cells and then into the living phloem sieve tube cells
by active transport. This process of loading at the source produces a
hypertonic condition in the phloem. Water in the adjacent xylem moves
into the phloem by osmosis. As osmotic pressure builds up the phloem
sap will move to areas of lower pressure. At the sink osmotic pressure
must be reduced. Again active transport is necessary to move the sucrose
out of the phloem sap and into the cells which will use the sugar -
converting it into energy, starch, or cellulose. As sugars are removed, the
osmotic pressure decreases and water moves out of the phloem.

To summarise, the movement of sugars in the phloem begins at the
source, where sugars are loaded (actively transported) into a sieve tube.
Loading of the phloem sets up a water potential gradient that facilitates
the mass movement in the phloem.

Phloem tissue is composed of sieve tube cells, which form long columns
with holes in their end walls called sieve plates. Cytoplasmic strands pass
through the holes in the sieve plates, so forming continuous filaments. As
hydrostatic pressure in the sieve tube of phloem increases, pressure flow
begins, and the sap moves through the phloem. Meanwhile, at the sink,
incoming sugars are actively transported out of the phloem and removed

Sugars leave sieve tubes;
water follows by osmosis

Tip of stem

Sugar solution flows
to regions of low
turgor pressure

l

Phloem
Sugars leave sieve tube
for metabolism and
storage; water follows
by osmosis

Figurell.10 Diagrammatic presentation of mechanism of translocation
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as complex carbohydrates. The loss of solute produces a high water
potential in the phloem, and water passes out, returning eventually to xylem.

A simple experiment, called girdling, was used to identify the tissues
through which food is transported. On the trunk of a tree a ring of bark
up to a depth of the phloem layer, can be carefully removed. In the absence
of downward movement of food the portion of the bark above the ring on
the stem becomes swollen after a few weeks. This simple experiment
shows that phloem is the tissue responsible for translocation of food; and
that transport takes place in one direction, i.e., towards the roots. This
experiment can be performed by you easily.

SUMMARY

Plants obtain a variety of inorganic elements (ions) and salts from their
surroundings especially from water and soil. The movement of these nutrients
from environment into the plant as well as from one plant cell to another plant cell
essentially involves movement across a cell membrane. Transport across cell
membrane can be through diffusion, facilitated transport or active transport. Water
and minerals absorbed by roots are transported by xylem and the organic material
synthesised in the leaves is transported to other parts of plant through phloem.

Passive transport (diffusion, osmosis) and active transport are the two modes
of nutrient transport across cell membranes in living organisms. In passive
transport, nutrients move across the membrane by diffusion, without any use of
energy as it is always down the concentration gradient and hence entropy driven.
This diffusion of substances depends on their size, solubility in water or organic
solvents. Osmosis is the special type of diffusion of water across a selectively
permeable membrane which depends on pressure gradient and concentration
gradient. In active transport, energy in the form of ATP is utilised to pump
molecules against a concentration gradient across membranes. Water potential is
the potential energy of water molecules which helps in the movement of water. It is
determined by solute potential and pressure potential. The osmotic behaviour of
cells depends on the surrounding solution. If the surrounding solution of the cell
is hypertonic, it gets plasmolysed. The absorption of water by seeds and drywood
takes place by a special type of diffusion called imbibition.

In higher plants, there is a vascular system comprising of xylem and phloem,
responsible for translocation. Water minerals and food cannot be moved within
the body of a plant by diffusion alone. They are therefore, transported by a mass
flow system — movement of substance in bulk from one point to another as a
result of pressure differences between the two points.

Water absorbed by root hairs moves into the root tissue by two distinct
pathways, i.e., apoplast and symplast. Various ions, and water from soil can be
transported upto a small height in stems by root pressure. Transpiration pull
model is the most acceptable to explain the transport of water. Transpiration is
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the loss of water in the form of vapours from the plant parts through stomata.
Temperature, light, humidity, wind speed and number of stomata affect the rate
of transpiration. Excess water is also removed through tips of leaves of plants by
guttation.

Phloem is responsible for transport of food (primarily) sucrose from the source

to the sink. The translocation in phloem is bi-directional; the source-sink
relationship is variable. The translocation in phloem is explained by the pressure-
flow hypothesis.
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EXERCISES

What are the factors affecting the rate of diffusion?

What are porins? What role do they play in diffusion?

Describe the role played by protein pumps during active transport in plants.
Explain why pure water has the maximum water potential.

Differentiate between the following:

(a) Diffusion and Osmosis

(b) Transpiration and Evaporation

(c) Osmotic Pressure and Osmotic Potential

(d) Imbibition and Diffusion

(e) Apoplast and Symplast pathways of movement of water in plants.
(f) Guttation and Transpiration.

Briefly describe water potential. What are the factors affecting it?

What happens when a pressure greater than the atmospheric pressure is applied
to pure water or a solution?

(a) With the help of well-labelled diagrams, describe the process of plasmolysis
in plants, giving appropriate examples.

(b) Explain what will happen to a plant cell if it is kept in a solution having
higher water potential.

How is the mycorrhizal association helpful in absorption of water and minerals
in plants?

What role does root pressure play in water movement in plants?

Describe transpiration pull model of water transport in plants. What are the
factors influencing transpiration? How is it useful to plants?

Discuss the factors responsible for ascent of xylem sap in plants.

What essential role does the root endodermis play during mineral absorption in
plants?

Explain why xylem transport is unidirectional and phloem transport
bi-directional.

Explain pressure flow hypothesis of translocation of sugars in plants.

What causes the opening and closing of guard cells of stomata during
transpiration?

2019-2020

193





